
X-Guard® D57-XXX400

Axelent 
Product information
» X-Guard® D57-XXX400

X-Guard was launched in 2008 and has since then been constantly developed with new doors. 
Today we have a large selection of swing and sliding doors. They are available in fixed standard 
heights but can also be built higher with the help of extenders. The doors are customised according 
to the different choices you make, ranging from opening dimensions to type of locks.

The D57-XXX400 door is a combined hinged and sliding door which in a compact way offers an 
opening up to 4m. All the advantages of both door types merged into one. The door has folding 
panels on wheels, which means that you can quickly and easily open the door by sliding the door 
panels together and then folding them down. 

D57-XXX400

• Hinged and sliding door

• Compact, saves lateral space, foldable

• No overhead rail

• Suitable for opening widths between 3-4m

• Custom cable carrier available as an accessory 



 4000 (Opening) 

 2
30

0 

 4140 

A

 120 

 170 

 19 

DETAIL A
SCALE 1 : 7

D
at

e:
 2

01
9-

02
-1

5

BG инструкции за монтаж
CZ Montážní návod
DE Montageanleitungen
DK Monteringsvejledning
EE Paigaldusjuhendid
ES Instrucciones de montaje
FI Kokoamisohje
FR Les instructions d’assemblage
GR οδηγίες συναρμολόγησης
HU Összeszerelési utasítások
IE Treoracha cóimeála
IT Istruzioni di montaggio

Axelent AB

BOX 1 · KÄVSJÖVÄGEN 17 
SE-335 04 · HILLERSTORP 
SWEDEN

TEL +46 (0)370-37 37 30
INFO@AXELENT.SE 
AXELENT.COM

JP 組立説明書
LT Montavimo instrukcijos
LV Montāžas instrukcijas
MT Istruzzjonijiet għall-immuntar
NL Montage-instructies
PL Instrukcje składania
PT Instruções de montagem

SE Monteringsanvisningar
SI Navodila za montažo
SK Návod na montáž
UK Assembly guide

C-0007622-01 KR-D57-XXX400A

C-number (for internal use) Drawing-ID Part/Assembly/Config ID (for internal use)

Default(D57-XXX400A)

Description / Article number

Dörr, Mötande slag/skjutport, Max H=2300 B=4000 mm

Weight (calc.)

KR-D57-XXX400A

A.1- g

Version

 4140 

 4000 (Opening) 
 0 

 2300 

 3055 

A

 19 

 120 

 170 
DETAIL A

SCALE 1 : 7

D
at

e:
 2

01
9-

02
-1

5

BG инструкции за монтаж
CZ Montážní návod
DE Montageanleitungen
DK Monteringsvejledning
EE Paigaldusjuhendid
ES Instrucciones de montaje
FI Kokoamisohje
FR Les instructions d’assemblage
GR οδηγίες συναρμολόγησης
HU Összeszerelési utasítások
IE Treoracha cóimeála
IT Istruzioni di montaggio

Axelent AB

BOX 1 · KÄVSJÖVÄGEN 17 
SE-335 04 · HILLERSTORP 
SWEDEN

TEL +46 (0)370-37 37 30
INFO@AXELENT.SE 
AXELENT.COM

JP 組立説明書
LT Montavimo instrukcijos
LV Montāžas instrukcijas
MT Istruzzjonijiet għall-immuntar
NL Montage-instructies
PL Instrukcje składania
PT Instruções de montagem

SE Monteringsanvisningar
SI Navodila za montažo
SK Návod na montáž
UK Assembly guide

C-0007668-01 KR-D57-XXX400B

C-number (for internal use) Drawing-ID Part/Assembly/Config ID (for internal use)

Default(D57-XXX400B)

Description / Article number

Dörr, Mötande slag/skjutport, Min H=2300 B=4000 mm

Weight (calc.)

KR-D57-XXX400B

A.0- g

Version

1

3

11

13

Drill holes through the panel,
 for the 10-9747 screws

7
8

12

6

9

10
5

4

3

2

ITEM NO. PART NUMBER DESCRIPTION QTY. LENGTH

1 D57-XXX400A Dörr, Mötande slag/skjutport, Max 
H=2300 B=4000 mm 1

2 B00-039 Kabelkedja kit för slag/skjutport 1

ITEM NO. ART NUMBER DESCRIPTION QTY.

1 G2262 G2262, Stolpfäste 70x70, för 
kabelsläp slag/skjutport (429824) 1

2 G2261 G2261, Panelfäste för kabelsläp 
slag/skjutport (429775) 1

3 MF6S-M6.20 Skruv (insex), FZB 4

4 10-9906 Flänsmutter räfflad M8 M6MF FZB 2

5 10-9750 10-9750,Självborrande 
Montageskruv 4,2x14 Svart 4

6 G2311-1 G2311-1, Basplatta skenvagnsfäste 
(med färre hål) 1

7 ML6M-M8 1

8 BRB-10x18x2 Bricka 10x18x2 svart zink 1

9 S6SS-M8.12 Skruv (insex), svart zink 2

10 10-9747 10-9747, Flänsbult M6SF M8x35 FZB 
helgängad 2

11 MK6S-M5.10 MK6S-M5.10, Skruv (insex), svart zink 2

12 MF6S-M8.120 MF6S-M8.120, Försänkt skruv (insex), 
M8.120 mm 8.8 FZB helgängad 1

13 G3045
G3045, Dörrkabelkedja, mont. 

längd med 30 länkar+2 ändlänkar, 
slag/skjutport

1

D
at

e:
 2

01
9-

03
-1

3

BG инструкции за монтаж
CZ Montážní návod
DE Montageanleitungen
DK Monteringsvejledning
EE Paigaldusjuhendid
ES Instrucciones de montaje
FI Kokoamisohje
FR Les instructions d’assemblage
GR οδηγίες συναρμολόγησης
HU Összeszerelési utasítások
IE Treoracha cóimeála
IT Istruzioni di montaggio

Axelent AB

BOX 1 · KÄVSJÖVÄGEN 17 
SE-335 04 · HILLERSTORP 
SWEDEN

TEL +46 (0)370-37 37 30
INFO@AXELENT.SE 
AXELENT.COM

JP 組立説明書
LT Montavimo instrukcijos
LV Montāžas instrukcijas
MT Istruzzjonijiet għall-immuntar
NL Montage-instructies
PL Instrukcje składania
PT Instruções de montagem

SE Monteringsanvisningar
SI Navodila za montažo
SK Návod na montáž
UK Assembly guide

C-0007996-01 KR-B00-039

C-number (for internal use) Drawing-ID Part/Assembly/Config ID (for internal use)

Default(B00-039)

Description / Article number

Cable chain, kit for Hinge/Sliding door

Weight (calc.)

KR-B00-039

A.10 g

Version

D57-XXX400A

D57-XXX400B

B00-039

Axelent 
Product information

Art nr.                Höjd (mm) Max bredd (mm)       Beskrivning 
Technical data (50x50 post)

 Art.no Height (mm) Max width (mm)                     Description 

» X-Guard® D57-XXX400

Art no.                Height (mm) Max width (mm)       Description 
Technical data

 Art.no  Height (mm) Max width (mm)                     Description 

D57-XXX400A  Max. 2300  4000    Hinged/sliding door 

D57-XXX400B  Min. 2300  4000    Hinged/sliding door 

 (standard panels of width 1000 mm are used as door panels) 

 

B00-039         Cable carrier

G
B

1
9

1
0

_1
.0

_E
N

S
U


